@ v $ ¥ Lﬁ g% Multiply decimals by 10,100,1000

Name: Date: Score:
3.323 x 10 = 7.58 x 10 =
1.398 x 1000 = 10.669 x 10 =
10.016 x 10 = 1.603 x 10 =
7.469 x 100 = 10.733 x 100 =
4.349 x 10 = 9.937 x 1000 =
5.507 x 100 = 8.759 x 10 =
3.635x 10 = 10.342 x 10 =
9.09 x 100 = 4.727 x 1000 =
5.401 x 100 = 2074 x 10 =
5.791 x 1000 = 2.383 x 1000 =
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@ Y $ ¥ ﬂf g% Multiply decimals by 10,100,1000

Name: Date: Score:
3.323 x 10 = 33.23 7.58 x 10 =75.8
1.398 x 1000 = 1398 10.669 x 10 = 106.69
10.016 x 10 = 100.16 1.603 x 10 = 16.03
7.469 x 100 = 746.9 10.733 x 100 = 1073.3
4.349 x 10 = 43.49 9.937 x 1000 = 9937
5.507 x' 100 = 550.7 8.759 x 10 = 87.59
3.635 x 10 = 36.35 10.342 x 10 = 103.42
9.09 x 100 = 909 4.7277 x 1000 = 4727
5.401 x 100 = 540.1 2.074 x 10 = 20.74
5.791 x 1000 = 5791 2.383 x 1000 = 2383
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